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1. In the following battles, which one is not correctly matched ?
A) Battle of Tarain : 1191 B) First Battle of Panipat : 1526
C) Battle of Wandiwash : 1760 D) Battle of Haldighati : 1581
2. Arrange the following in chronological order.
i) Rowlatt Act ii) Poona Pact
iii) Partition of Bengal iv) Lucknow Pact
A) i, i, v, i B) iii, ii , iv, i C) i, iii, i, ii D) i, iv, i, ii
3. Correctly match the following.
List -1 List—1
i) Regulating Act of 1773 a) Mayo
i) Subsidiary Alliance System b) Linlthgo
iii} Department of Agriculture and Commerce ) Wellesley
iv) August Offer d) Warren Hastings
A) i—-d, li-a,ii-c,iv=b B) i—-d,ii—c,lli—-a,iv-Db
C)i-a,ii—-d,ii-b,iv-¢ D) i—aii-b,ii-d, iv—c
4. Warsaw Pact came into existence in
A) 1953 B) 1955 C) 1949 D) 1952 9
5. Match List — 1 and List =l
List -1 List— 1l
i) Brahmananda Swami Sivayogi a) Adwaita Chinta Paddhati
ii) Srea Narayanaguru b) Acharabhooshanam
i) Chattampi Swamikal c) Streevidya Poshini
iv) K.P. Karuppan d) Daiva Deshakam
A) i—-¢ii-d,ii—a, iv=-b B)i-d,ii-a,iii-b,iv=c
C)i-b,ii—a,iii-d, iv—c D)i—a,ii-c,iii=b,iv—d

6. Which is the correct chronological sequence of following events ?

i) Kurichya Revolt ii) Attingal Revolt

iii) Treaty of Srirangapatanam iv) Martyrdom of Veluthampi
A) i, v, i, | B) i, iii, ii, iv C) i, i, iw, i D) v, i, iii, i

7. Match List — I and List = Il
List - | List—1l

i) Tattvabodhini Sabha a) B.M. Malabari

i) Rehnumai Mazdayasan Sabha  b) Radhakanta Dev
iii) Dharma Sabha c) Debendranath Tagore
iv) Seva Sadan d) MNaoroji Furdoniji
A) i—g,li—d,ii-b,iv—a B) i—d,ii—a,ii-b,iv-c
C)i-cii—-b,jii-d, iv-a D)i-b,ii—a,iii-c, iv—d
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Which of the fallowing things/events are associated with the American War of Independence 7
i) Boston Tea Party

ii) Prides' Purge

iii) Declaration of Rights and Grievances

iv) May Fourth Movement

A) Only ii) and iii) B) Only i) and iii)
C) Only i), iii) and iv) D) Only i) and ii)

In Mughal Administration, Khan e Saman became the head of

A) Revenue Administration B) Religious Matters
C) Royal Household D) Military Department
The Travancore University was formed during the reign of

A) Gouri Parvati Bhai B) Sri Mulam Thirunal

C) Chithira Thirunal Balaramavarma D) Ayilyam Thirunal

Mﬁmﬂhmmmwﬁmﬁhmm ?
i) Radiation by energy source

ii) Interaction of energy with target

iii) Transmission, reception and processing

iv) Interpretation and analysis

A) i) and ii) are correct B) i) and iii) are correct
C) i), ii) and iv) are correct D) All the above are correct
The scientific discipline that deals with the measurement and representation of the Earth
A) Geodesy B) Cartography
C) GIS D) Photogrammetry
Identify the pair which is u-::-rracﬂy matched.
a) Aravalli Range . Delhi to Ahmedabad
b) Narmada Valley . Rift Valley
c) The Peninsular Plateau : 1600 km
d) East Coast . Kaveri Delta
A) a and b only B) b and d only
C} conly D) a,b,candd
The upper air circulation or system influence the Indian climate is
A) El Nino Effect B) La Nina Effect
C) Jet stream D) Cyclones
Child sex ratio in Kerala as per the 2011 census is
A) 964 B) 960 C) 943 D) 948

Goods and Services Tax (GST) came into force in India on
A) 1% April 2017 B) 1#July 2017  C) 1% April 2015 D) 1* July 2015
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17. Consider the following statements ;

i) RBI has the monopoly power of issue of notes and coins of all denominations in India.
i) RBI keeps and manages the foreign exchange reserves of India.

iii) Open market operations are conducted by RBI via the sale and purchase of
government securities.

iv) During inflation, RBI reduce the Cash Reserve Ratio.
Which of the above statements is/are correct ?

A) Onlyi),illandh) = B} Onlvilh &
C) Only ii), iii) D) Only i), iv)

18. Which of the following is the single largest item of public expenditure in India ?
A) Interest Payments

B) Salary and Pension
C) Defence Expenditure D) Expenditure on Social Services
19. Consider the following statements -

i) Dlmnttnmareﬂmtamlnwhimrrpacthnnmepumnnmd
incidence on the other person.

i) Indirect taxes are those taxes in which impact and incidence are on the
same person.
iy The burden of indirect taxes can be shifted.
Select the correct statements.
A) Only i), ii) B) Only iii)
C) Only i) and iii) D) Neither ii) nor iii)
20. Which Five Year Plan for the first time actually addressed the issue of removal of
poverty as a prime objective 7
A) First Five Year Plan

B) Second Five Year Plan
C) Fifth Five Year Plan

D) Fourth Five Year Plan
21. Which among the following is not a basic objective of creating All India Services ?
I) Maintenance of law and order
ii) National unification and nation building
iii} Promation of decentralized govemance
iv) Managing federal polity

A) i) and iv) B) i) and iv) C) iii) only D) iv) only

22. Given below are two statements, one labelled as Assertion (A) and other labelled
as Reason (R). Select your answer from the codes given below.
Assertion (A) : Public Servants are to be free from political bondages in making
decisions affecting public life.
Reason (R) : The Public Servants are committed for the implementation of public
policies approved by the political executive.
A) Both (A) and (R) are true and ( R) is the correct explanation of (A)

B) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
C) (A) is true, but (R) is false

D) (A) is false, but (R) is true
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Which among the following is a condition to become a national political party in India ?
i) It wins atleast two percent (2%) seats in the House of the People and these
members are elected from atleast three different States.
ii) It wins atleast five percent (5%) seats in the Council of States.
iii) It secures atleast two percent (2%) of the Chief Ministers in any States.
iv) It secures atleast six percent (6%) of the valid votes polled in the State ata
general election, either to the House of the People or to the Legislative Assembly
of the State.
A) i B) ii C) iii D) iv
Which among the following agency comes under the purview of Right to Information
Act 7

A) Directorate of Revenue Intelligence  B) Assam Rifles

C) Directorate of Enforcement D) Prime Minister's Office

Which among the following statement is not true about Lokpal ?

A) Lokpal consists of a Chairperson and eight Members

B) Among the members of Lokpal, 50% are from Judiciary

C) The Chairperson and the Members are appointed by Prime Minister
D) The retirement age of members is 70 years

Who amang the following was not in the Drafting Committee of Indian Constitution 7

A) Jawaharlal Nehru B) Alladi Krishnaswamy lyer
C) B. L. Mitter D) K. M. Munshi
By which Amendment of the Constitution, Art. 300A was introduced 7

A) 42 Amendment B) 44" Amendment

C) 64™ Amendment D) 73 Amendment

Which among the following is not an implication of financial emergency ?
A) Reduction of salaries and allowances

B) Financial bills will be reserved for the consideration of President

C) Reduction of salaries of Judges

D) Abolition of the post of Finance Minister in States

Which among the following is not a function of Finance Commission of India ?
A) To recommend the President of India on distribution between the Union and the
States of the nat tax revenues.
B) To recommend the President of India on the principles which should govern the
grants-in-aid of the revenues of the States.
C) To recommend the President of India on the measures to present State finance bills.
D) Te recommend the President of India on the measures needed to increase the
Consolidated Fund of a State.
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Which among the following terms was not included in the Preamble enacted on 1849 7
A) Sovereign B) Secular C) Democratic D) Republic
The word ‘Snatch’ is associated with

A) Weightlifting B) Basketball C) Cricket D) Hockey
The 2018 Winter Olympics was held in

A) Canada B) South Korea C) ltaly D) Russia
Vimala Devi is an important character in M.T. Vasudevan Nair's novel

A) Nalukettu B) Manju C) Kaalam D) Randamoozham
Bharat Gopy won the National Film Award for Best Actor in the film

A) Yavanika B) Ormakkayi C) Kodiyettam D) Chidambaram
The Nehru Trophy Boat Race is associated with the

A) Ashtamudi Lake B) Vellayani Lake

C) Veeranpuzha Lake D) Punnamada Lake

The pen name of the Malayalam writer V. V. Ayyappan is

A) Kovoor B) Kovilan C) Kuttetan D) Kuttipuzha
The 2018 Asian Games was hosted by

A) Thailand B) Japan C) South Korea D) Indonesia
The Malayalam film which won the National Award for Best Feature Film in 2018 7
A) Bharatham B) Vanaprastham

C) Thanmathra D) Marakkar : Arabikadalinte Simham
The 2018 Commonwealth Games venue was

A) Scotland B) Australia C) India D) New Zealand
Which writer won the Jnanpith Award in 2007 7

A) O. N. V. Kurup B) M. T. Vasudevan Nair

C) S. K. Pottekkatt D) Akkitham Achuthan Namboothiri
Which is a category of impact printers 7

A) Inkjet printer B) Laser Printer

C) Plotter D) Dot matrix printer

What is “Social Media Optimization™ 7

A) Writing clear content

B) Creating content which easily creates publicity via social networks
C) Creating short content which is easily indexed

D) Create content for social networks

FIFO scheduling is
A) Fair-share scheduling B) Non-preemptive scheduling
C) Deadline scheduling D) Preemptive scheduling

-10-
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A

A device that connects networks that use different protocols
A) Switch B) Hub C) Gateway D) Proxy Server

Stealing any digital asset or information is listed as a cyber-crime under which
Section of the IT Act ?
A) 65 B) 65-D C) 67 D) 70

Global warming can be controlled by

A) Increasing deforestation, reducing efficiency of energy usage

B) Reducing deforestation, increasing the use of fossil fuel

C) Increasing deforestation, slowing down the growth of human population
D) Reducing deforestation, cutting down use of fossil fuel

The main policy goal for The new Science, Technology and Innovation Policy (STI) is
A) SRISHTI is the main policy goal to led path for India
B) To translate this action into vision
C) A dedicated Policy Research Cell is yet to establish
D) All of the above

Which of the following is not true about Indian Space Research 7

A) The first satellite launched in India was Aryabhatta.

B) Great Scientist Dr. Vikram Sarabhai is known as the father of Indian Space Research.
C) ISRO was set up in 1962,

D) IRSO reports to Department of Space, India.

Name an Umbrella Programme that was launched in 2007 to promote R & D.
A) International S & T cooperation

B) Scientific Excellence

C) Creating and Murturing S & T Human Resource

D) MNano Science & Technology

REDD Plus Programme is concemed with which of the following ?
A) Millennium Development Goals (MDG)

B) Muclear Non-proliferation Treaty (NPT)

C) Convention on Biological Diversity (CED)

D) Earth Summit

If the arithmetic progression whose common difference is non-zero, the sum of first
3n terms is equal to the sum of next n terms. Then, find the ratio of the sum of the
first 2n terms to the sum of next 2n terms.

Ay 5:1 By C)y1:10 D) 10:1

In a school of 800 students, every student reads 5 newspapers and every newspaper
is read by 100 students. The number of newspapers is
A) 20 B) 60 C) 80 D) 40

=12-
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A memorial trust donates Rs.10,00,000 to a school, the interest an which is to be
used for awarding 3 scholarships to students obtaining first three positions in the
school examination every year. If the donation eams an interest of 12 per cent per annum
and the values of the second and third scholarships are Rs. 40,000 and Rs. 25,000
respectively, find out the value of the first scholarship.

A) Rs. 55,000 B) Rs. 60,000 C) Rs. 50,000 D) Rs. 65,000

Inacﬂy,ﬂﬂ%ufmsﬂanmhaveasmrunmaeye, B80% on an ear, 75% on an arm,
83% on a leg and »% have a scar on all the four limbs. The minimum value of x is
A) 10 B) 15 C) 20 D) None of these

33. A housing society consisting of 2,750 pecple needs 100 L of water per person per day

7.

60.

61.

The cylindrical supply tank is 7 m high and has a ciameter 10 m. For how many days wil
thew&tarhmatanhlaatfurmaamiaty?
A) 4 days B) 3 days C) 2 days D) 1 day

ﬁIial'hnrmiqmmnﬂﬁtmdnﬁamdufﬂnr‘.Apdimmancha&as
ﬁnhnhmmiuﬂamﬂdiumﬂ.ﬂhimmmﬂmufma
mmumimmmﬂ:mmhmmmm
thief 7 .

A) 25s B) 20s C) 50s D) 30s
Mnammhanthlandshmvanaﬁasnftaammumﬂuufs:4.T|'mmutn1'ﬂru

is Hs.EnuparkgandmatufmundvaﬁutyisH‘s. 300 per kg. She sells the blended
tea at the rate of Rs.250 per kg. Find out the percentage of her profit or loss,

A) 2.27% loss B) 2.27% profit ) 5.14% loss D) 5.14% profit

The length and breadth of the floor of a room are 7.5 m and 2 m, respectively. Forty
tiles, each with area TTEm’am used to cover the floor partially. Find the ratio of the

tiled and the non-tiled portion of the floor.
A) 10:1 B) 1:10 C) 5:1 D) 1:5

The average marks of boys in a class is 82 and that of girls is 52. The average marks
of boys and girls combined is 60. The percentage of boys marks in the class is

A) BO B) 50 C) 60 D) 40
Jwomen and 6 men can together finish an embroidery work in 5 days, while 4 women

and 7 men can finish it in 4 days. The number of days taken by 1 woman alone to
finish the work and also that taken by 1 man alone are respectively

A) 20 and 40 B) 40 and 20 C) 60 and 30 D) 30 and 60

In the sequence given below, the number after 34 is

3,4,7,7,1313, 21,22, 31, 34, 7

A) 38 B) 40 C) 43 D) 45
«fd-
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mmmwm@gu?

A) 4 O B) 3 Ot C) 2 oarn D) 1683
w2y 898 ms™! Send Seond dgotd La Beabmd Ly oG 10 ms™ Sericd) 3R
e Hﬂﬁ#ﬂ&&mﬁﬁﬁ:@ﬁ. totly e dnano S0 o s Setdpdeod warobid
Emuh@,&{aﬁg{hﬁmmﬂ% ey 9

A) 25s B) 20s C) 50s D) 30s
m.aiJ t.-}m:uqmbﬁ : 40 amadgmmma%mm. Hrode ogo
g ekt Lot He de. 200 sh comsb HgE wEd Rt t.odt B8 de. 300. ek
203 SRad Hamsa sdet todd td de. 250 Jod SRthepd. Lk eRbyiad Jemmd
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A) 2.27% B) 227% oo C) 5.14% =, D) 5.14% ooyl
ot Ondon Ho en 5% srfes) G 7.5 Do s 2 e, oM oD
m%uﬁ@mmmmm m:g%q‘dmudmﬁndmmadﬁmﬁd

> BoriaActol.

A) 10:1 B) 1:10 C)5:1 D) 1:5
msmmmmm Eoitn SxEnohd Roedo wodridh 52, Boand
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Tz wos omb 7

A) 80 B) 50 C) 60 D) 40
3 s =03 6 FHobmd LR hcd:ﬁm&im‘sﬂ#iﬁ mqﬂm:mmm g eacde
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A) 20 =3 40 B) 40 b 20 C) 60 = 30 D) 30 =360

#91 Dedens eE e 340 esedds %o
3,4,7,7,13,13, 21,22, 31,34, 7
A) 38 B) 40 C) 43 D) 45
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Two signs in the below eguation have been interchanged, find out the two signs to
make the equation correct.

4+10x1+5-2=4

A) +and - B) +and + C) xand + D) xand -

Sonu starts walking towards South. After walking 25 m, she tums towards North.
After walking 30 m, she turns towards East and walks 20 m. She then tums towards
South and walks 5 m. How far is she from her original position and in which direction ?
A) 20 m, West B) 20 m, East C) 10 m, West D) 10 m, East

Find the number that does not fit into the series.
42,142,3&&.1252,51&3

A) 5108 B) 1252 C) 388 D) 142
The numbers 12, 3 and 7 on a clock’s face are joined to form a triangle. The three
angles of this triangle are
A) 60, 50, 70 B) 65, 45, 70 C) 50, 85, 45 D) 60, 45, 75
8 T 6
8 7 6
88 77
5632 | 3773 | 3132

~ The number missing from the table is

A) 6 B) 66 C) 105 D) 87

In a certain code language, “HAND" is written as "27" and “WORK" is written as "67".

How is “BOAT" written in that code language ?
A) 38 B) 40 C) 36 D) 37

Rachel is mother-in-law of Phoebe. Phoebe is sister-in-law of Ross. Chandler is the
father of Joey, the only brother of Ross. How is Rachel related to Ross ?
A) Sister B) Mother C) Wife D) Mother-in-law

The probability that a leap year selected at random will contain either 53 tuesdays
or 53 wednesdays is

1 4
A) 7 B) ; C) g D) 5
2 1 2
3 |134] 4 3 21| 7 3 7
5 5 5
The missing number is
A) 227 B) 34 C) 250 D) 222

=16~
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g Baoesdnnd S0 zﬁ_rﬁa‘:qﬁd@;ﬁ LEERcReR NG, HaoessesIl) deivpreiedL ¢

add WiV gorblRoto0.

4+1GH1+5—2=4

A) + Sy - B) =+ C) x ==+ D) x =¥ -

Apesy Déred oin Srchan o5 Doe, A0 weoad el oo sdint achrozy.
30 e, 3G et ot Scil 3coN 20 2. , s Cped, 30N
5 noe, s, ek sheomsnes o destrRy mda%ac;;n; 8

A) 20a0e., SBED ﬁ 2050e., FpSF “E]. 1020¢., D) 102oe., oI
wdedrt BB,

42, 142, 388, 1%51 ™

A) 5108 B) 1252 C) 388 D) 142

Lo AOCIRTE Soodgd 12, 3 S8 7 Rozirich JineRiny dnasie Aeosadgc =
3dnec 3 et

A) 60, 50, 70 B) 65, 45, 70 C) 50, 85, 45 D) 60, 45, 75
8 F | ]
8 7 6
88 77

hEEEE 3773 | 3132

sienser Do wEcdnnds Hosd,

A) 6 B) 66 C) 105 D) 87

| wothonios foded peadold "HAND® sornnsh 2T sotie el “WORK muﬁig_“ﬁ?'mdm

=)

e o Borord & Aot Rsted "BOAT" Soeciy Bt wieboarbses ?
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A) 38 B) 40 C) 36 D) 37

e Zpericd 68, e GRGFRTON wogD IS, ot Gt gt KSR,
mormad code dreraedit Brod Rotogkled 7
A) Hetnecid B) 3o C) Zom2 D) 3

md%a@ﬂﬁ#ﬂﬂmwm mmmm
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A) 1 B) E C) E D) f‘_
7 7 T 7
b 1 2
3 [13a|4 |[3]21]7 |8 ¥
5 | 5 5
REERNDS g
A) 227 B) 34 C) 250 D) 222
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Receptionist : “The interviews resume on Monday, Please bring a copy of your resume
today itself.” (Identify the parts of speech of the underined words respectively)

A) noun and adjective B) noun and verb
C) adjective and noun D) none of these
The students of our school given a challenging task yesterday.

A) were B) was C) have been D) none of these
I'have _____ terrible headache now as | could not sleep last night. (Choose the
suitable article)

A) a B) an
C) the D) no article required
Equanimity is one of the qualities desirable for a successiul life. (Choose the word
which is equivalent to the word underlined)

A) courage B) calmness C) politeness D) none of these

John was exculpated after a thorough investigation. (Select the word which is opposite
to the word underlined)

A) acquitted B) exonerated C) vindicated D) none of these
Several old buildings were pulled to construct new ones before the
Olympics.

A) off B) away C) down D) none of these
tiger : tigress : : drake : duck : : ram: 7
A) ewe B) mare C) stag D) none of these
Select the wrongly spelt word(s) from the following :

1. equilibrium 2. sacrilegious

A) 1 only B) 2 only C) both D) neither
He is a man who is too ready to believe things. (Replace the underlined part without
changing the meaning)

A} is credible B) is decesitful C) is fraudulent D) none of these

Had he been inoculated, effect of the disease milder on him.
A) had been B) will have been
C) would have been D) none of these

-18-
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g1. Our students/havel] just had their dinE. (Identify the wrong part)
a b c
A) a B) b
C)c D) thisis a correct sentence
7 (Add a suitable tag question)

82. He's scarcely admitted his mistakes,
A) is he B) has he C) was he

B3. Jnhn______{'h}dummmhndfmaﬂmmnharlum (Fill in the blank
usimﬂmwﬂmﬂmmhhuﬂmﬂ

D) none of these

A) lied B) lay C) laid D) none of these
84, 'Hdmhﬂmsnnnimamrﬁfmaansﬂahnisvew ¥
A) hard-working B) honest C) rich D) none of these
85. Choose another adjective derived from “pure”.
A) impure B) unpure C) purity D) none of these
86. John became the de tacto ruler of England. (The underiined word means)
A) actual B) democratically elected
C) hereditary D) nene of these

g7. This medicine was proscribed two years ago. (The underlined word means)
B) industrially manufactured

A) developed
C) forbidden D) none of these
ga. Please insist the bill when you make purchases in this supermarket.
(Choose the suitable preposition)
A) with B) at C) for D) none of these

89. All schools (disinfect) today in preparation for tomormow's re-opening.

(Choose the most suitable among the following)
A) are disinfecting B) are being disinfected

C) disinfected D) none of these
womorrow 7", John said

g0. Direct speech : - wHelen, when will you armve here
there the next day. (Fill in the

Indirect speech : —John asked Helen when
blanks)

A} will she arrive

C) would she arrive

B) she would arrive
D) none of these

18-
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A) Errvo mEooD
B) ufﬁ.hq;d
C) m?}gimm%m;‘d
D) @odoen

92, fomnald oow Iod Don@me ded cdnad 7

A) doml + waid

B) o+ mwd
C) doend + wxd
D) $ox + TS

‘ogy 2ort drers Deorl’ v oz actwdd

A) Fgert

B) ag0or

C) wuglad>@on

D) ssyomddon ) ¥l ARt B ol

04. 3 v by, neor Eadrwd. VaNS vt HHE HociRr THs HEsko

a5.

A) RZE
B) sz
C) 2wz,
D) Smema

‘mﬁem%mwmmmndﬁw clRa)cy 7

A) :mm&qir
B) vm oF

C) a.gm'%m'r
D) ZERmgr

96. ‘EFFICIENCY" acw Toid 8@ Homn Taisi rooxane.

A) Re8 3
B) o83
C) sess

D) =g




97. Sidens mec sine) FparTiaval.

A) om0 S shew
B) g dedosay sheed
C) wanmay sewd

D) w::rm

98, rogisd Souded ?

A) rog =
B) sstng
C) &0

D) geao

99. 21 3NS e ivO, Roctnd THYER), rbOb8ND.

A) swRnd), Segid Dorirbgs
B) eedce, F3rivo aubagss
C) w3, Ay arogs
D) wwIgd megn wdnus

100. ‘scdzhorsl oo ﬁddadxgﬂindm&th?

A) L
B) Ry

C) wimiord
D) =0

=



